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Ri : ERAIBV=ZEER
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Ri+ 2 Rn+Ro Ro : M Al EMmZEE
T2 TER(IVihig) BB - KR i —fRER | ZAABER
EiELE %) a 83 17
ERGIEBRETIL | ERH M BnER A Exd BRI R
=1 (W/mK) (m) (mMK/W)
1 [ERAIREEERR) - - 0.110 0.110
2 |HMEE EEEM 0.120| 0.015 0.125 0.125
3 [E2I5F -V 0.220| 0.012 0.055 0.055
4 [EERYIAI-IVETEH 16K 0.045| 0.050 1.111 -
5 |RABKRHM 158 0.120| 0.105 - 0.875
6 |5 BIEMTEESU(RO) - - 0.040 0.040
RS (MK/W) ZR=X(d/A) 1.441 1.205
BERE W/mK) U=1/IR 0.694 0.830
THEEFRE (W/mK) UA=2 (U xa/100) 0.717
BERE B 1.000
EEHERE W/mK) B xXUA 0.717
TH2 TER(IVihig) KEBE- KB i —fgER | BBER
EiELL (%) a 83 17
EEIERRETIL | EBH 7 BnER ) [ESd BE R
] (W/mK) | (m) (MK/W)
1 | ERAIR=EERR) - - 0.110 0.110
2 |&iR 0.160| 0.005 0.031 0.031
3 [E2I5F -V 0.220| 0.012 0.055 0.055
4 [EEAYIRI-VEREAR 16K 0.045| 0.100 2.222 -
5 |RAAKRM 158 0.120| 0.105 - 0.875
6 |5+ SBIEMTEEH(RO) - - 0.040 0.040
R (MK/W) ZR=%(d/A) 2.458 1111
BERE W/mK) U=1/XR 0.407 0.900
THEERE W/mK) UA=Z (UXa/100) 0.491
BERE B 1.000
EHHERE W/mK) B XUA 0.491
T2 TER(IVHhig) BRZ= &R i —fgER | A=A
EiELE %) a 50 50
ERGIEBRETIL | SR M BnER A Exd BRI R
=1 (W/mK) (m) (MK/W)
1 [ERAIREEERR) - - 0.110 0.110
2 [EERYIRA)-IETEFE 10K 0.050| 0.100 2.000 -
3 |RBARM 188 0.120| 0.120 - 1.000
4 | SAAIEMEEEH(RO) - - 0.040 0.040
RS (MK/W) ZR=X(d/A) 2.150 1.150
BERE W/mK) U=1/IR 0.465 0.870
B EFRE (W/mK) UA=2 (U X a/100) 0.667
BERE B 1.000
EEHERE W/mMK) B xXUA 0.667
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Ri : ERAIBV=ZEER

BRI ZAEAR BB E RE U W/ mMK) = X3+
Ri+ 2 Rn+Ro Ro : M Al EMmZEE
T2 TER(IVHhig) MK HF e — i3]
EiELE %) a 100
HEERETIL | EBH M BnER A Exd BRI R
=1 (W/mK) (m) (mMK/W)
1 [ERAIREEERR) - - 0.090
2 | Ry - HEIR S AR 0.058| 0.009 0.155
3 [E2I5F -V 0.220| 0.012 0.055
4 [FEERYIAI-ILETEH 10K 0.050| 0.200 4.000
5 |+ &BIEMEEEH(RO) - - 0.090
R (MK/W) ZR=%(d/A) 4390
BERE W/mK) U=1/XR 0.228
THERERE W/mK) UA=Z (UXa/100) 0.228
BERE B 1.000
EEHERE W/ mMK) B xXUA 0.228
T2 TER(IVHhig) = - TXRH e — i3]
EiELE %) a 100
HEERETIL | EBH M BnER A Exd BRI R
=1 (W/mK) (m) (mMK/W)
1 [ERAIREEERR) - - 0.090
2 |RBARM 18 0.120| 0.004 0.033
3 [{EERY IR ETEFE 10K 0.050| 0.200 4.000
4 | SAAIEMEEEH(RO) - - 0.090
RS (MK/W) ZR=X(d/A) 4213
BERE W/mK) U=1/IR 0.237
B EFRE (W/mK) UA=2 (U X a/100) 0.237
BERH B 1.000
EEHERE W/mMK) B xXUA 0.237
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1 Ri : ERAIZM=EER
BRI AT EMEAR A BVE FRE U W/ mK) = 77
Ri+ 2 Rn+Ro Ro : M KA EMEZEE R
TH2 TER(IVihig) HRER i —fgER | BTER
EiELL(%) a 80 20
EEIERRETIL | EBH 7 BnER ) [ESd BE R
] (W/mK) | (m) (MK/W)
1 | ERAIR=EERR) - - 0.150 0.150
2 |RBKRM 158 0.120| 0015 0.125 -
3 |EEAYTIAI-VEREFT 16K 0.045| 0.100 2.222 -
4 |RAKM 148 0.120| 0.060 - 0.500
5 [{EERYIAI-IETEFE 16K 0.045| 0.050 - 1.111
6 |5+ SBIEMTEEH(RO) - - 0.150 0.150
R (MK/W) ZR=%(d/A) 2.647 1.911
BERE W/mK) U=1/XR 0.378 0.523
THERERE W/mK) UA=Z (UXa/100) 0.407
BERE B 1.000
EEHERE W/ mMK) B xXUA 0.407
T2 TER(IVHhig) FIZE R e —fRER | ZAABER
EiELE %) a 80 20
HEERETIL | EBH M BnER A Exd BRI R
=1 (W/mK) (m) (MK/W)
1 [ERAIREEERR) - - 0.150 0.150
2 |BK 0.110| 0.055 0.500 0.500
3 |&iR 0.160| 0.012 0.075 0.075
4 [EERYIAI-IVETEH 16K 0.045| 0.100 2.222 -
5 |RBKRHM 158 0.120| 0.045 - 0.375
6 [{EERYIRAV-IETEFE 16K 0.045| 0.050 - 1.111
7 | S & AAIEMEEEH(RO) - - 0.150 0.150
R (MK/W) ZR=%(d/A) 3.097 2.361
BERE W/mK) U=1/XR 0.323 0.424
THEERE W/mK) UA=Z (UXa/100) 0.343
BERE B 1.000
EEHERE W/mMK) B xUA 0.343




